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1. The value of the integral ["log(1 + cosx)dx is
a) glog 2 b) —mlog2 c) mlog 2 d) None of these

— 2
2. [efn 1"(Plrii—tx)dx is equal to
X

_ _ 1 _
a)x e ¥ 4C b) x%et X 4C ¢)zen ¥ 4 d) None of these

3. Letl;= f:_a xf(sinx) dx, I, = f:_af (sinx) dx, then I, is equal to
a) 51 b)ml; ¢)I d)21

4. [cos7! (%)dxequals

a)xsec lx + cosh™lx + ¢ b)xsec ' x — coshtx + ¢

1

c) xsec lx —sin"lx+c d) None of these

5. The value of fol = s

x + /1 —x?
TC T 1 T
a)3 b)3 )3 d)3

6. For any natural number n, the value of the integral fg/ﬁ [x%]dx, is

a)m/n + Xroq b)m/n — io1fr 0) Troir —m/n d) None of these

7. fxi(logex e)dx is equal to

a)log.(1 — log.x) + ¢ b)log.(log.ex —1) + ¢
c)log.(log.x —1) + ¢ d)log.(1 + log.x) + ¢
8. Let f be integrable over [0,a] for any real a.If we define

/2
I1=f cosOf(sin® + cos?0) do
0

andl, = f(;t/z sin20f(sin @ + cos?0) d, then
a)11=12 b)11= —12 C) 11=212 d)11= —212



9. Consider the following statements:
/2 3
LS /2~ cosx — cos®x dx =7

2. (Ix — 1| + |[x — 3])dx = 10
Which of these is/are correct?

a) Only (1) b) Only (2) c) Both of these

10. The value of the integral f:i;: sin~*x dx is

8 3 8
a) — 3 b)z ) 3
11. The value of lim M, is
x—00 [y € dx
a)l b)2 c)3

12. I [}, #f(D)dt =1 —sinx, ¥ x € [0,/2], then f(1) is

d) None of these

d)None of these

d)0

d) None of these

d)2a

a)3 b)+/3 3
13. If ais fixed real number such that f(a — x) +f(a + x) = 0, then fozaf(x)dx =
a)5 b)0 A —3
14. f sin(x — ac)1:in(x — b)is
1 .
- x—a)
) sita =08 [ Sme =] + ¢
_ =1 . |sinx—a)
b)Sinca — 5198 |y = _b)| tc

c)logsin(x — a)sin(x —b) + ¢
d)log

sin(x —

a)
sin(x — b)l tc

5—x
15. Let [ >——dx equal
a)\X + 24/5 — x +3sin? l% +C
b)X + 25 —x +7sin"! S22+ C
€)X + 24/5 — x +5sin™? l% +C

d) None of these

x+1
x—1

b)(1/2,1/2)

16 J' 2x2+3

=D+ 4)

a)(—1/2,1/2)

) +btan~! g, then (a, b) is
(—11

dx = alog(

d)(1, -1



17

18.

19.

20.

. fex@ dx is equal to
X

X

a)%+c b) = tC

a) 2secalog (% cosec a) b)2secalog (% sec a)

33x4+1 , .
[232*1 gy is equal to
0 x249

a)log(2+/2) + %

f dx
VA =x)(x—2)

is equal to

a)sin"!(2x —3)+c¢ b)sin!2x+5)+c o)sin"}(3—2x)+c

b)log (Zﬁ) + %

c)%x+c

The value of the integral f;a cosec(x — a)cosec(x — 2a)dx, is

c) 2 cosec alog(seca)

c) log (Zﬁ) + %

) == +c

d) 2 cosec alog (% sec a)

d)log (Zﬁ) + g

d)sin~}(5 — 2x) + ¢



